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&S R 4 2% | TimH DR jmj:afé R 4 THwMASDKE | 5 ﬁwkéjé B 4 2% | LiEHSOHE ﬁwxéfé & 4 LImALDLE | & | AOKRES
(m) (m) (kN/mm) Bt (m) (m) (kN/ ) (m) (m) (kN/r) (m) (m) (kN/rm)
7 100kN/mMZ#825 | 1.00 | 000 ~ 1.39 121.16 |3m%F{BZ5D — -~ 100kN/m#EBZ5 | 1.00 | 1269 ~ 2227 12116 |3mEBZD ~
Fhst 1.00 | 1.39 ~ 918 100.00 | #hdlst | 000 ~ 9.18| 239 12.50 Fhst 1.00 | 6.00 ~ 1269 100.00 | #hst | 500 ~ 2227| 2.59 12.80
2 100kN/mM#%#8Z5 | 1.00 | 0.00 ~ 263 141.37 |3m%E#ZD ~ 100kN/m#EEZ5 | 1.00 | 1053 ~ 2227 141.37 |3m&E8z5 ~
Fhilst 1.00 | 263 ~ 1041 100.00 | #hiast | 000 ~ 1041 273 14.61 Fhist 1.00 | 6.00 ~ 1053 100.00 | #ndst | 6,00 ~ 2227|273 14.61
3 100kN/mi%#825% | 1.00 )| 000 ~ 266 14182 |3m&8BZ3| — ~ = == — | 100kN/m%E#BZ5 | 1.00 | 1068 ~ 2516 141.82 |3mE¥Bi5 -~ — — —
Thst 1.00 | 266 ~ 1044 100.00 | #hiast | 000 ~ 1044| 293 15.70 Fhist 1.00 | .00 ~ 1068 100.00 | #ndst | 6,00 ~ 2516| 293 15.70
4 100kN/m%#825 | 1.00 | 000 ~ 1.65| 12531 |3m&BZB| — ~ — — — | 100kN/m&E#BZ5 | 1.00 | 10.77 ~ 1635 12531 |3mE¥BZi5 -~ — — —
Thst 1.00 | 1.656 ~ 944 100.00 | #hdst | 000 ~ 944 | 2560 13.37 Fhist 1.00 | 6,00 ~ 10.77 100.00 | #hdst | 6,00 ~ 1635 250 13.37
5 100kN/m%BZ25 | 1.00 | 000 ~ 1.58 124.05 |3m%E#B2 % = ~ = = — | 100kN/m%#8z2% | 1.00 | 1081 ~ 1699| 124.05 |3m%E#BZ3 — ~ = = =
Thst 1.00 | 1.58 ~ 936 100.00 | #hlst | 000 ~ 9.36| 226 12.08 Fhist 1.00 | 6.00 ~ 1081 100.00 | #hs | 500 ~ 1699 2.26 12.08
P 100kN/m#%#8Z25 | 1.00 | 000 ~ 144 121.96 |3m%E#B2 % - ~ — — — | 100kN/m%#8%2% | 1.00 | 11.08 ~ 17.06| 121.96 |3m%E#BZ3 — ~ — — =
Thst 1.00 | 1.44 ~ 8923 100.00 | #hlst | 000 ~ 923| 222 11.86 Fhist 1.00 | .00 ~ 11.08 100.00 | #hdst | 5,00 ~ 17.06| 222 11.86
. 100kN/ M %# 2% — ==~ . —|3mEBZB| — ~ = == — | 100kN/mM%# % % — =5~ — —|3m%EBZ D -~ — — —
Thst 1.00 | 000 ~ 739 94.24 | #hst | 000 ~ 739 1.93 10.35 Fhist 1.00 | .00 ~ 11.16 94.24 | Fhst | 500 ~ 1116 1.93 10.35
3 100kN/m&#BZ5 | 1.00 | 000 ~ 060 10899 |3mEHBZBHl — ~ — — — | 100kN/i%&#8Z 5 | 1.00 | 1058 ~ 1234 10899 |3m%E#BZ5 - ~ — — —
Thst 1.00 | 060 ~ 839 100.00 | #hdst | 000 ~ 839 | 214 11.45 Fhist 1.00 | 6.00 ~ 1058 100.00 | #hs | 500 ~ 1234 214 11.45
9 100kN/ Mm% % % — — ~ = —|3mEBZB| — ~ = = — | 100kN/m%# % % = — ~ = —|3mZEBZ D — o~ = — =
Thst 1.00 | 000 ~ 597 74.80 | =ns | 000 ~ 000 1.57 8.38 Fhist 1.00 | .00 ~ 7.50 74.80 | #ns | 500 ~ 750 1.57 8.38
100kN/ %25 ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ M%# 2% ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ M %# 2% ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ Mm% % % ~ 3m%EHBZD ~ 100kN/mM%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ %25 ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ %25 ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhist ~ zhst ~ Fhs ~ Fhist ~




